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1. Find the following for the function f(x) = 3x2 + 2x - 4. °&//
(a) f(0) (b) 1(5) (c) (- 5) (d) f(-x)
(e) —f(x) (N f(x +2) (9) f(4x) (h) f(x + h) <
SR %
(a) f(0) = (Simplify your answer.)
(b) f(5) = R _] (Simplify your answer.)
— — f
...-_;, (c)f(—-5)= l ] (Simplify your answer.) v
; v
/

(d) f(—x)= [ ] (Simplify your answer.)

(e) - f(x)=| | (Simplify your answer.)
w— () f(x +2)=| (Simplify your answer.)
@f@x)= | (Simplify your answer.)
(h) fx +h) =] (Simplify your answer.)
Answers -4

81
61

3% -2x-4

-3 -2x+4
2

3 + 14x+ 12

48x° +8x -4

332 +6hx + 3h2 + 2x+2h - 4
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2. Find the domain of the function.

=Y f(x) = 42X 8

The domain is |:] (Type your answer in interval notation.)

Answer: [4,c0)
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3.

20f23

For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
fx)=2x+5; g(x)=5x-7
(a) Find (f+ g)(x).
(f+g)x) = (Simplify your answer.)
What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

O A The domain is {x| b
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

QO B. The domain is {x| X is any real number}.
(b) Find (f— g)(x).

f-g)(x)= : (Simplify your answer.)

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

OA. Thedomainis {x| }.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as heeded.)

O B. The domain is {x[ X is any real number}.
(c) Find (f- g)(x).
(feg)(x) = (Simplify your answer.)
What is the domain of f- g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
O A. The domain is {xl }

(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

() B. The domain is {x| X is any real number}.
f
(d) Find | — | (x).
g
f
E (x)= (Simplify your answer.)
f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

QO A. The domain is {x| - }
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

(O B. The domain is {x| X is any real number}.
(e) Find (f+ g)(3).

f+g)(3)= (Type an integer or a simplified fraction.)

7/31/2019, 9:38 AM
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(f) Find (f- g)(2).

_‘_5) f-g)2)= [ | (Type an integer or a simplified fraction.)

(g) Find (f+ g)(4).

’? (feg)d)= ' o ] (Type an integer or a simplified fraction.)

o
(h) Find [g]u).

f e
(E] = (Type an integer or a simplified fraction.)

Answers 7x—-2

B. The domain is {x| x is any real number}.

-3x+12

B. The domain is {x| x is any real number}.

10x% + 11x - 35

B. The domain is {x| X is any real number}.

2x+5
5x—-7

7

A. The domain is {x| x# <

-

https://xlitemprod.pearsoncmg.com/api/v1/print/math

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

19
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4 i . f(x + h) - f(x) i -
i Find the difference quotient of f: that is, find —h h# 0, for the following function. Be sure to simpiify.

f(x)=x° - 9x + 4

f(x+ h) — f(x)

oL ]
Answer: 2x+h-9
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5. Using the given graph of the function f, find the following.
(a) the intercepts, if any

’9 (b) its domain and range
(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

—

(a) What are the i(ercepts’?‘

(/ v ) SL’ 10

(Slmpllfy your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(b) Thedemain i3 ‘J < Z /e ,// i+ _(
(Type your-answer in mterval notation.) 3
Ther’angem {3 &— l N -/’L)W) Top (

(Type your answer in :nte al notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

" ___'. n_ — o -
() A. The graphis {ncreasiﬁg on /.. ' !j J ! L [ / 33
(Type your answer in interval notation. Use a comma to separate answers as heeded.)
B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph iQecregs,jn}l on \:" 3/ ‘,) L g
(Type your answer in interval notation. Use a comma to separate answers as needed.)
B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on :
(Type your answer in interval notation. Use a comma to separate answers as needed.)

K-J.f._ B The graph is not constant on any interval, 9

—— —— — = —

(d) The function is (1)

(1(@_ even. _ )
) odd.
neither odd nor even.

4 0f23 7/31/2019, 9:38 AM
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Answers (- 1,0),(1,0),(0,1)
[-33]
[0,1]

A. The graph is increasing on [-1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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6. The function fis defined as follows.

4+x ifx<0
f(x) = _
X2 ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) ThE ddmain.of the function fis C,;_r;,:v ek )
(Type your answer in interval notation.) '
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

QO A, Thadﬁtar#?ép_ﬁs)?isfare ("’ (71/ Q/ . (U/ ) )
(Type an ordered pair. Use a comma to separate answers as needed.)
(O B. There are no intercepts.

) .
X~ Mef < / R N\ Moa

yﬁﬁ’llﬂ /o \

- 00,00 /)’M“K e /‘j
= J / 2 Medt

(c) Choose the correct graph of f(x) below. > \'\
O A, OD
y
5
L4
y 5 o
(d) Thqfé_fi;iﬁ of the-function f is (- o 75)
(Type your answer in interval notation.)
Answers (— 00,00)
A. The intercept(s) is/are (—4,0),(0,0) . _ o
(Type an ordered pair. Use a comma to separate answers as needed) ' A i E ‘*x—%
AT 1 Agw™ 65( Grofhi=g N
XF—MI w < 1T \ Ce / Cu (Lo /r

ID: 1.4.37 e / , ; . o) ﬂ_r:,/
g, = GF X (=0 —cwer)
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7. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) F(q) =f(x) +2 (b) G(x) = f(x +2) (©) P() = - f(x)

1
(d) H(x) =f(x +2) - 1 (&) Q(x) = 5 f(x) (M g(x) =f(=x)

(9) h(x) = f(2x)

(a) Choose the correct grapl’i@ F(x) = f(x) + 2 below.

A

(b) Choose the correct graph G‘EG_[x_) =f(x+2) bg!ou\-f.- >

.

D

) B. ¢,

- - 1 e 1 S
(e) Choose the correct graph r&)(x) = Ef(x) below.

_] e
(’T/A-‘" i R. [N o3 n.

-

7 of 23 7/31/2019, 9:38 AM
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Y

W

el

(g) Choose the correct graph of h(xJ: =/f(2x) belq;ai.

O A. O B. O c.

8 of 23 7/31/2019, 9:38 AM
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Answers

ID: 1.5.63
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8.
(a) Graph f(x) = |x + 2| - 4 using transformations. A
(b) Find the area of the region bounded by f and the x-axis :0-.
that lies below the x-axis. Pl

.——) (a) Graph f(x). o
q_

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that | -
lies below the x-axis is | square units, A — — . : . : >
(Simplify your answer.) o 8 6 4 2 1 2 4 & 8 10

=4

-4

-6

B

10

Answers drr
10-]

ID: 1.5.81
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9. Find the zeros of the quadrahc()‘unctlon @factormg "What are the x-intercepts of the graph of the functaon? //
WE=IX—3 =0

9(x)=3x2-8x—3 C})K ‘T‘)CJ( ""‘33 = (—,[// _)(

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

B The zeros and the x-intercepts are different. The zeros are

O A , the x-intercepts
. are . AIXF[= 0O QO X—3 =
a_ () B. The zeros and the x-intercepts are the same. They are - )( e )*_f 4/: ‘ﬁ)-f 3
' Wt~ =d—f O .
3y ==/ 1
Answer: B. The zeros and the x-intercepts are the same. They are - ;,3
3Kzt —
3__,%____ O/LQ/:‘*B Y
— ™ 4
ID: 2.3.19 _(:’X—- - /3 ) ——et =
AR - e ——
10. Find the zeros of the quadratic function using tl'{square root method What are the x-intercepts of the graph of the
function? —

g(x) = (x - 6)* - 25

Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

~ A The zeros and the x-intercepts are different. The zeros are
" are

ﬁ () B. The zeros and the x-intercepts are the same. They are

Answer: B. The zeros and the x-intercepts are the same. They are 11,1
) 3
ID: 2.3.29 Q(’ 6) —=(5 =
AL — i
(X—¢) = ¢
U et =7 (25

/(,é - = < o
X—G6G=—% Or< )(MGW

ks QR X676 = ST
=1 o LX< (I

, the x-intercepts

r

HMof3, _ __—— 7/31/2019, 9:38 AM
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2 A e
11. Find the zeros, if a y. of the 6,uadrat|c function usnngth@aﬂ_@gﬁm&. What are the x-intercepts, if any, of the graph
of the function? z 2y _,-6)(+3 )( —‘—{/6')4(/['('6) "1‘(2)(3) ,.G-+|rgg=— (&7
z 3 == ;
f(X)=2x2+3+6x Engp, G50, & 2(2) _ 7
- =6t U (2
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. (T g

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a corﬁma to

separate answers as needed.) )(,, — 6 -+ VC—/}\

O A, The zeros and the x-intercepts are different. The zeros are , the x-intercepts <&
are ) /( c -Gt V’Z!:_Q _
ﬁ (O B. The zeros and the x-intercepts are the same. They are . ) e
C. There is no real zero solution and no x-intercept. )(’t — 6 id 2‘;/3
SROEROE NG EILEY,
Answer: B. The zeros and irle_.ﬂn_tgr_qqgf_gre the same. They are 2 2\ ( )
- ,\/ ~ =% t V3
2 —

vin {7 257 oa(x

he— “\________’__,

w»mh nt (6,6) 2
T Hrtromte S

‘,_.' D

V

\Ventex
- ;,q, JZ8),

)= x -2 6
(L':l/ -5’:’7 =6
(a) (~1)))
Z(), /4 200
.Z( .%/ ( )
=(1, A1)
=(1," ()F—=t(+
~ (1, V=27¢
@(// s) VP/L(A\C/

! _cf'/_/
VALRD PYRY>| “j
(5 ‘f‘ﬂ/\ Upens Uy -

____/"-;_ I
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13.
Graph the function f(x) = - X2 + 6x by starting with the graph

ofy= x2 and using transformations (shifting,
stretching/compressing, and/or reflecting).

Select all the transformations needed to graph the given

v

function usingy = 2.

l"/ Shift the graph up @ units.

[]B. Shift Shift the graph down 9 units.
[L]/C. {Shift th_egr_aph to the nght 3 unlts
[]D. Reﬂéct thé graph about the y-axis.

[4E. @e_ﬂect_the graph about the x-axis.
OF

N
>

\
L}

Stretch the graph_verticaliy by a factor of
3.

Compress the graph vertically by a
factor of 9.

(] H. Shift the graph to the left 3 units.

e. Use the graphing tool to graph the function.

[]G.

Answers A. Shift the graph up 9 units., C. Shiﬂ the graph to the right 3 units., E. Reflect the graph about the x-axis.

, VY\ [y
20 \f 17 L{ _7\}/:*
Qa /5, 12 »(q).,-ﬂa

ID: 2.4.29-Setup & Solye
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; A ; o is
el CL(%”"G [j)“f_ C b s v /}
14, Q £ ﬁ’”
Determine the quadratic function whose graph is given The quadratic function which describes the given graph is
below. V& 11( (- ¢, «-’7 ) ] fo = l | 2
201“’ (\ ? B Ck( ot z) 5}{93 an expression.) N \,) = | ( )(*f‘L) =
: /’ ( x+1)(K+1)="1

Lo [C’ -3 & (+9) =1
X942 ¢ | g e (X ke

| e G (ot —\7 I ey x )T/
10 ] gy " - (2t ~7 - —(L/)(fé“/’7

r(f —A L’l/‘:‘-«/){- (é) (’Z)
() 1 —3 & _
g o, e &l / @gzi:h_ . A,EA))
™ -’? 7)) - b P /
g B TS w
“x_____ __3 .—r—7 &(‘\"'/(T(f )

> Answer: 2 4 4y~ 3 o~ &4 /ﬁf
Ir{

= S -‘-
C’/ /’.

i= dZL__ ;

L ———
15. Determine, wi_li'lé&t'g;'aphm whether the given quadratic function has ﬁ maximum value or @ minimum value and then find

thevalue./ )WRWL\ (J/"/\) QW SJ | 4 ‘/[ asS c\@
f(x) = - 3x% + 18x -6 )[-
M) =—3x ¢ —r 1§ X —¢

Does the quadratic function f have a minimum value or a maximum value? ?) /Z C —¢
A= b
() The function f has a maximum value. L/ o7 L&( 2 J

(") The function f has a minimum value. L = . e
What is this minimum or maximum value? '29\) ¥ s ":__‘ 2( 5)

ID: 2.4.49

| 263) )
(S your anows) =( /féif)>

Answers The function f has a maximum value. — ( [( 3 ))

21

z (3 -}(3)-+77/$? ~&)
ID: 2.4.59 /
=3 =300 113) — ¢
e - (3}__17 'f 4 ”'(’) 6, )

A s =(>, Al) /\

W ey,

14 of 23 7/31/2019, 9:38 AM




finalm 1314COCO026sulllljjR-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

16. Use the rational zeros theorem to find all the real zeros of the polynomial function. Use the zeros to factor f over the real
numbers. 5

f(x) =3 - 3x% - 25x - 21 ;Z(// : {)( —3 X b2l =7 | 5/; i/f

Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to complete yaur answer.

- L_LAJ 4
a ) A x=

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or '{:’ S
fractions for any rational numbers in the expression. Use a comma to separate answers as

needed.) f I Z /

() B. There are no real zeros. - _;——(—
Use the real zeros to factor f. "ﬁ Z l T 5 .I
f(x) =/ 7 /

(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.) 2 )
i) ] +9 r

’_:_rf/ < [ :E i f /

Answers A, x= =3, =1,7 -

|3

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expressnon Use a comma to separate answers as-needed:) > —*-_-. a

(x+1)(x+3)(x=7) e S L l‘L\“CZI ~*~7 +3 T/ P,

J /
4\\/\5,/7 / B ——r}r,s b

ID: 3.2.45 B _ e e g
£ Ly GES— r

X = Y —24 = O
K-+ 3 K --‘7) = o
kg = 6 0a  X=72F0
X+5—o= O S O X-7 7 T .

S~

15 of 23 —~ 7/31/2019, 9:38 AM
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17 2 =

’ 3x" -4 PR

For the function F(x) = 2 (a) graph the rational function using transformations (b) use t the ﬁnal graph to find the \ \]

X _— , A M

(domain and range, and (c) use the final graph to list an(y' vertical, orlzontal of obllque asymptotes d .\3

e — , s ol 7 O \_Cn# |
q (a) Choose the correct graph below. - e = R
B S— i Ay

S ~-..._L/ X e (/-C) L

(b) What is the domain of the given function? Select the correct choice below and, if necessary, fill in the answer box to
complete your choice.

ATTEA
() A, The domain of the given function is {x|x is a real number, x> @;J }

/ (Type an integer or a simplified fraction.) (,/

B The QE:mam of the given function is {x]x is a real number, x# ( }
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

() €. The domain of the given function is {x|x is a real number, x < }
(Type an integer or a simplified fraction.)

D. The domain of the given function is the set of all real numbers.

What is the range of the given function? Select the correct choice below and, if necessary, fill in the answer box to
complete your choice.

A The range of the given function is {yly is a real number, y> }
(Type an integer or a simplified fraction.)

B. The range of the given function is {y|y is a real number, y#
/ (Type an integer ora simplified fraction. Use a comma to separate answers as needed )
) C

. Tha.ta_,g__':ilh,e_gugrl_fpnctlon is {y|y is a real number, y < 5 } ===

(Type an integer or a simplified fraction.)
D. The range of the given function is the set of all real numbers.

(c) What is/are the vertical asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to
complete your choice.

~ . - ! '\II.
‘/ There is one frtlcal ,esymptoté It is Q{ S

(Type an equationi. Use infegers or fractions for any numbers in the equation.)

B. The left vertical asymptote is . The right vertical asymptote is

(Type equations. Use integers or fractions for any numbers in the equations.)

C. There is no vertical asymptote.

What is/are the horizontal asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to

complete your choice. . ) 3 ’/]
6K WY=3) P we=s
A. There is bne horizontal asymptote. Itis . ==
(Type an equation. Use integers or frac!tons for-any numbers in the equation.) A
R  Thoa tran harimantal acumntata i Tha hattam harizantal acumntata ic '} 4’5 + /7\)\,1, ~377)
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(Type equations. Use integers or fractions for any numbers in the equations.)

What is/are the oblique asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to complete
your choice.

A. The oblique asymptote with the positive slope is and the oblique asymptote

with the negative slope is
(Type equations. Use integers or fractions for any numbers in the equations.)

B. There is one oblique asymptote. It is
AType an.equation. Use. mtegers or fractions for any numbers in the equation.)

—

\(“6/ There is no oblique asymptote.

Answers D,

B. The domain of the given function is {x|x is a real number, x# 0 P

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

C. The range of the given function is {yly is a real number, y < 3 }
(Type an integer or a simplified fraction.)

A. There is one vertical asymptote. It is x=0
(Type an equation. Use integers or fractions for any numbers in the equation.)

A. There is one horizontal asymptote. It is y=3
(Type an equation. Use integers or fractions for any numbers in the equation.)

C. There is no oblique asymptote.

ID: 3.4.43
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18. Find th@:;l.\:norimnt}l‘ and(oblique asymptates, if any, for the following rational function.
e . eaanl ==

o A B T2
X~ ‘z‘ . "‘f' '
Select the correct choice below and fill in any answer boxes within your choice. ~

ﬁ Thﬂrertlcal asymptote(s) Is/are X= " V 6 ‘ { & V
(Use a comma to separate answers as needed.) = = ‘~/

{;‘\. 5'7"“"7 U :

R(x)= <+ 4

() B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice. _ /_,{ / ) 44

i
A QU e =

P A, The forizontal asymptote(s) is/are = ; “F" b 5 f o //

(Use a comma to separate answers as needed.) /

() B. There is no horizontal asymptote. . & )

Select the correct choice below and fill in any answer boxes within you chmee—-—-'———( S / B
o | A wt ( 7~
) A. The oblique asymptote(s) is/are y = ( (& 5 74’/4 qu 1 3 - 3——'
V_/_, (Use a comma to separate answers as needed.)
| B. There is no oblique asymptote. )
—)ka__ SeATEES g e

Answers A. The vertical asymptote(s) is/are x=| -4 ..(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 5 .(Use a comma to separate answers as needed.)
B. There is no oblique asymptote.

ID: 3.4.45

3 A0 Z /// ¢ & )) 7 /ul( |
SIna //)OL\M/ ({"u}ﬂ {-) ,/u/\/) SO*/’;"’}L_

- v 5
\\_H__’___V/N
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19.

—_—

19 of 23

For f(x) = 3x + 1 and g(x) = 2x, find the following composite functions and state the domain of each.

(@) fog (b) gof (c) fof (d) gog ﬁ 9){{) < //( I K )) (_(Jirn .5 :]
/
(@) (fog)(x) = (Simplify your answer.) ,’," (2 X) ﬂ_ ¥, ¢ ‘(d;/z/

Select the correct choice below and fill in any answer boxes within your choice. - ) ( (A ’( ) -+ / = ~ —

5 —*Hﬁ'

O A. The domain of fo g is {x l,mﬁwﬁ__}
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a

comma to separate answers as needed.) e e \
() B. The domain of f o g is all real numbers. 6 ¢ {) (’( = j [ [“) >) f'_yUmkx )
= 9 ( 3x-+1 (—M/M}

< C ( X~ " (B
Select the correct choice below and fill in any answer boxes within your choice. - (; A( - Ny e—

(b) (9o PH(x) = (Simplify your answer.)

O A. The domain ofgofis {x| }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(0 B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.) /71 % ;’ )(( )
Select the correct choice below and fill in any answer boxes within your choice. ‘,» ( <

© A. The domain of fo fis {x | > /( 3)(«(() =

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.) NS e
3 (3X+1) 7|

() B. The domain of f o f is all real numbers.

9)(15# (_
+Y = Y=

(d) (g o g)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice. Qx

(O A. The domain of go g is .
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.) g 09 (5 j i
(O B. The domain of g o g is all real numbers. ——

5 60) = N\
Answers 6x + 1 / ( \‘Lyﬂ\t <

7. z :
B. The domain of f o g is all real numbers. y ( Z ){j (_/}J’ fy-’/ )
il /
6x+2
Z ( Z)éf} o "

B. The domain of g o fis all real numbers.

i ol 'C':/"_//

9x+4 ( iﬂ( . -

B. The domain of f o f is all real numbers. ——

4x

B. The domain of g o g is all real numbers.
ID: 4.1.23

" e ————= — ____‘___‘_"'__——\-—._
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20.
The function f(x) = 3x + 1 is one-to-one.

(a) Find the inverse of f and check the answer.

(b) Find the domain and the range of fand f '

(c) Graph f, f~ ! , and y = x on the same coordinate axes.

.# @t (0=
(Simplify your answer. Use integers or fractions for any

numbers in the expression.)

(b) Find the domain of f. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A.  The domain is {x|x<

~

© B. The domain is {x|x=
O €. The domain is {x|x# b

() D. The domain is the set of all real
numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O A. The range is {yly# }
O B. Therange is {ylyZ }
O C. Therangeis {ylyS }

(O D. The range is the set of all real numbers.

Find the domain of f~ 1. Select the correct choice below
and, if necessary, fill in the answer box to complete your

choice.

O A. The domainis {x|xz h
O B. The domain is {x|X¢ }
C. The domainis {XIXS - }

D. The domain is the set of all real
numbers.

Find the range of f 1. Select the correct choice below and,
if necessary, fill in the answer box to complete your choice.

A. Therange is {ylyZ_‘ - o }
B. Therangeis {V|V¢ —_— }
C. Therangeis {VIYS = }

D. The range is the set of all real numbers.

(c) Graph f, f~ ! , and y = x on the same coordinate axes.

Use the graphing tool to graph the functions.

20 of 23
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x—1
3

Answers

D. The domain is the set of all real numbers.

D. The range is the set of all real nhumbers.

D. The domain is the set of all real numbers. ¢ | N
D. The range is the set of all real numb ; ! %‘q)i_// ]L /"'
N 7
Ay // T o
201 ) o —,
7= )(/
f"-/
ID: 4.2.53
_————— — G -‘("f’s_l ’7‘(: -
21. Solve the equation. (Z 2
-X+52 _ : - j ¥
647" % = 128" ,,614“5/2 _ 27'>< VChori ke

é The solution set is { }
(Type an integer or a simplified fraction. Use a comma to separate answ. ass needed.)
Answer: 24 -6 )( + 3 ( 2,

X AFT AL ‘7 =310
== X T X3t o
—6 X -7 X < 7;(-1-'}[2,"'7)(\

-3 ) L
—I5X = =Sl

,—/3_
L( \\
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/,,3> — /U?‘Z (HA+v)c &

22. Solve the equation.

log,(4x+5)=4

M N
o v, - { ) L
, o . , {"C YX~ y Y{ (¥

Change the given logarithmic equation to exponential form. l

| | 2.2 2 U= ¥X~s

(Type an equation. Do not simplify.) / G 9‘ Xt N /
ﬁThe solution set is {] [}- /(o — ¢ < % )< ’f /(

(Simplify your answer. Use a comma to separate answers as needed.) qb

Answers 4y 4+ 5= 2% /

i LU= X
4

Y v '
NV
ID: 4.4.91-Setup & Solve ‘

(./ =
23. Find the amount that results from the given investment. ; r’_

1
( $500 mifested at@:)wmpoundecﬁquarteﬁy after a period a@ /( ,

\ATfter 2 years, the investment resultsin$____ |
(Round to the nearest centas needed. )

A,, ; $Pc sov
ST G | o Freae

|

1 ¥ T2 o)
s o (1% A="S ZO/U/Q
) E =7 =yeud
ID: 4.7.7 A’ cVo ( |+ <0 Z/c,/) o "“"‘/( ~

= - — —
24. How many years will it take for an initial investment 20,00(;% grow 6&’: -
(_compounded continuously J

t 0 $30,000? Agsume-a rate of i_nteresi@_/\)
e h_“”jf} S

It will take about | | years for the |nvestmer_1_1ggrpw to $30,000.
(Round to two decimal places as needed ) P,

= //é / F-t.,'/
a Answer: 13. 52 @Z//df

/*fﬂi/v)/\ (3)
22535 EL )

-

I

03¢

ID: 4.7.41 2(/0(/-) = 000\96 il B et
30099 - mecw
70 O
.5 =

22 0f23 /g\
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25, Solve the system of equations. If the system has no solution, say that it is inconsistent. / e ( FY /

/ Sy, Gyt )( VVIM Z)(‘Ziw < G L/’:\ = Liﬂ’
fi

5x +y =21

_fux = rﬁ)Z_V_L__ { i

C 3
(Lt O=X§ iy
Select the correct choice below and, if necessary, fill in any answer boxes within your choice. ( )\/ =3

QQ A.

S«\ L s

The solution of the system is x = andy= ; _ 2 7 - é
(Type an integers or simplified fractions.) Z/ X - “

(Type an integers or smphfeglfractluns;f

() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as 2 ( & ) — 7 c G
{(x y)x=__ ., yanyreal number}
(Simplify your answer. Type an expression using y as the variable as needed.) 7 — {9 (—
() €. The system is inconsistent. Z - &7 w ;0’/
Answer: A. The solution of the systemisx= 4  |andy= 1 . /2’7 = &

ID: 6.1.33 m j 4@ ";J‘/::(L 95

26. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

X=2y+3z= 6

2x+ y+ z= =3

-3x+2y-2z= 0

Select the correct choice below and fill in any answer boxes within your choice.

ﬁ@ A.

O B.
O C.

) D.

The solution is x = VY= ,andz= . (Type
integers or simplified fractions.)

There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= , 2 any real number}.

(Simplify your answers. Type expressmns usmg 2 as the variable as needed.)

There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x Y.2) | xX= .y any real number, z any real number}
(Simplify your answer. Type an expression using y and z as the variables as needed.)

The system is inconsistent.

Answer: A.

The solution is x = -2 LYy= - sandz= 2 | (Type integers or simplified
fractions.)

240D /’WJV"? et/ [;U talts 347,

ID: 6.1.45 /4 / . *3 ¢}

23 0f23 ~—

/=3
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